4-Digit Addition

Calculate the answer to each sum:

a) I have a box of 3452
a 2 7 11 b) 4 2 1 2 3451+5432=_____ q 3 41 e) 6 0 7 marbles and another box
+ 5 2 3 4 + 2 6 4 3 + 7 5 4 3 + 2 2 8 3 containing 2124 marbles.
How many marbles do I
1763 + 4342 = 9 8 4 3 5 5 havealtogether?
1812 + 5231 =
)1 23 5 d 7777 b) 4 5 3 J‘)5116b)h o of
1083 + 2155 = I have a box of 3546
+ 3 1 2 4 + 4 2 5 3 + 1.2 2 2 * 8 4 3 2 stamps and my brother
5 5 3 5 4 8 ﬁasabox oft2783 siélamps.
3321 + 7238 = ow many stamps do we
have altogether?
7667 + 4715 =
) 2 221 f) 6 223 6721 g 435
+ 5 2 3 4 + 1 9 3 7
+ 4 2 4 2 +27561902+4873=
9 5 5 2 9 3
1099 + 2137 =
d) 3 5 6 h) 6 6 9
g 9 9 01 h) 9 9 9 9 2561 + 6273 =

+ 1 2 2 4 + 5 3 4 2
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4-Digit Addition Answers

Calculate the answer to each sum:

B 8883 a) I have a box of 3452
a 2 7 11 b) 4 2 1 2 3451+5432=_8883  q)|2|3 4 1 e) 6 0 72| marblesand another box
+ 5 2 3 4 + 2 6 4 3 + 7 5 4 3 + 2 2 8 3 containing 2124 marbles.
1763 + 4342 6105 How many marbles do I
+ =
7 9 4 5 6 8 5 5 B 9 8|81|4 8|3 5 5 havealtogether?
5576
1812 + 5231 =__7043
)1 2 3 5 d 7 77 17 b)4531f)5116b)h o of
1083 + 2155 = 3238 I have a box of 3546
+ 3 1 2 4 + 4 2 5 3 + 1.2 2 2 t 8 4 3 2 stamps and my brother
has a box of 2783 stamps.
5{7|5 3 1 3|5 4 8
435 9 1 2030 3321 + 7238 = __10559 How many stamps do we
have altogether?
12382 6329
7667 + 4715 = _1£30£
g 2 221 f) 6 2 23 ) 6 7 2 1 g) 4 3 5|6
+ 5 2 3 4 + 1 9 3 7
A4 282 * 2750 1902+4873-__ 6775 T 1le - -
6 4 6 3 8 9 709 612 9 3
1099 + 2137 = 3236

d) 3|45 6 h) 6 6 9|8

g 9 9 01 h) 9 9 9 9 2561 + 6273 = 8834
+ 1 2 2 4 + 5 3 4 2

1 1 1 25 1 5 3 41
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